


Part# Description Drawing Qty.
1 Side Panel | 3
2 Standard panel 3
3 Door panel i 1
4 Side Panel Il 1
5 Roof Panel 4
6 Moveable Mesh 1

(pre-assembled on side panel Il)
7 Connecting tube I 4
8 32-32 clamp = 32
} N
9 32-25 clamp 24
10 25-25 clamp AQ__Q 8
11 M10x50 bolt §) ) 16
12 M10x35 bolt 0r—o 20
13 M10 luck nut D 36
14 M6x12 bolt b= 6
15 M6 luck nut o 6
16 Baffle o, 6




o Please select a flat place for the assemble of the pen
Step 1

e (Connect the short side of side panel | (1) with standard panel (2) using clamps (8). Secure with bolts (11) and nuts (13).
**PLEASE NOTE: Arrange panels as shown below.

Step 2

e Connect the tall sides of panels | (1) using clamps (8). Secure with bolts (11) and nuts (13) as shown below.

/AN

T

/

1/

/

[




Step 3

® Repeat steps 1 and 2 to assemble the remaining panels.
**PLEASE NOTE: before finishing panel assembly, choose desired position of coop attachment frame (4) & door panel (3).

© 2

Salglglgs

Eesseeaaes

Step 4

o Connect two roof panels (5) using connectors tubes (7) as shown below. This will be half of the run roof.

o — -

T O




Step 5

then use clamps

Allow roof to rest on the four pre-welded clamps,

o Lift the half roof to the top of side panels as shown below.

750,
(XX

(7
()

and nuts (13).

)

ith bolts (12

(9) to tighten the four pre-welded clamps and secure w

e Repeat the above procedure to finish attaching the half roof.




6

Ste

o Repeat Step 5 to finish assembling the other half roof. Connect the two half roofs with clamps(l 0)and secure with bolts (12) and nuts (13).

e The pen is now ready for use.

® The Moveable Mesh (6) is pre-assembled with Side Panel Il (4).

It can be taken-off if customer needs an extra opening.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

